© Krishi Sanskriti Publications

http://www.krishisanskriti.org/jbaer.html

Some Common Fixed Point Theorems for Three Mappings in Cone Metric Spaces

Sukh Raj Singh¹ and R.D. Daheriya²

¹Research Scholar, Department of mathematics J.H. Govt. P.G. College Betul M.P. India ²Department of mathematics J.H. Govt. P.G. College Betul M.P. India E-mail: ¹srsinghgaur@gmail.com, ²drrdaheriya@yahoo.in

Abstract—In this paper, we prove the existence of coincidence points and common fixed point theorems in cone metric spaces for three mappings satisfying contractive conditions without exploiting the notation of continuity of any map involved therein.

1. INTRODUCTION

In 2007, Huang and Zhang [1] generalized the concept of a metric space, replacing the set of real numbers by ordered Banach space and obtained some fixed point theorems for mappings satisfying different contractive conditions. Subsequently, the study of fixed point theorems in such spaces is followed by some other mathematicians; see [2-8].

Consistent with Huang and Zhang [1], the following definitions and results will be needed.

Definition 1.1.[1] Let *E* be a real Banach space. A subset *P* of *E* is called a cone if and only if

- P is closed, nonempty and $P \neq \{0\}$;
- $a, b \in R, a, b \ge 0, x, y \in P$ implies $ax + bx \in P$;
- $x \in P$ and $-x \in P \Rightarrow x = 0$.

Definition 1.2.[1]Let X be a nonempty set. Suppose that $d: X \times X \to E$ satisfies

- (d1) $0 \le d(x,y)$ for all $x, y \in X$ and d(x,y) = 0 if and only if x = y;
- (d2) d(x,y) = d(y,x) for all $x, y \in X$;
- (d3) $d(x,y) \le d(x,z) + d(z,y)$ for all $x, y, z \in X$.

Then d is called a cone metric on X, and (X, d) is called a cone metric space.

The concept of cone metric space is more general than that of a metric space.

Definition 1.3.[1] Let E be a Banach space and $P \subset E$ be an order cone. The order cone P be called normal if there exists L > 0 such that for all $x, y \in E, 0 \le x \le y$ implies $\|x\| \le L \|y\|$.

The least positive number L satisfying the above inequality is called the normal constant of P.

Definition 1.4.[1]Let P be a cone in Banach space E define partial ordering \leq with respect to p by $x \leq y$ if and only if $y - x \in P$. We shall write x < y to indicate $x \leq y$ but $x \neq y$ while $x \ll y$ will stand for $y - x \in intP$, where intP denotes the interior of the set P. This cone P is called an order cone.

Definition 1.5.[1]Let (X, d) be a cone metric space. We say that $\{x_n\}$ is

- (e) a Cauchy sequence if for every $c \in E$ with $0 \ll c$ there is an N such that n, m > N, $d(x_n, x_m) \ll c$;
- (f) a convergent sequence if for every $c \in E$ with $0 \ll c$, there is an N such that for all n > N, $d(x_n, x) \ll c$ for some fixed $x \in X$.

A cone metric space X is said to be complete if every Cauchy sequence in X is convergent in X. It is known that $\{x_n\}$ converges to $x \in X$ if and only if $d(x_n, x) \to 0$ as $n \to \infty$. It is a Cauchy sequence if and only if $d(x_n, x_m) \to 0$ $(n, m \to \infty)$.

Definition 1.6.[1]Let $f, g : X \to X$. Then the pair (f, g) is said to be (IT)-Commuting at $z \in X$ if f(g(z)) = g(f(z)) with f(z) = g(z).

2. MAIN RESULTS

Theorem 2.1.Let (X, d) be a metric space, and P be a normal cone with normal constant L. Suppose mappings $f, g, h : X \to X$ satisfy the contractive condition :

$$d(fx, gy) \le \alpha d(hx, gy) + \beta d(fx, fy)$$
$$+\gamma d(fx, gy) + \delta d(fx, hx)$$
$$+\mu d(gy, hy) \tag{2.1.1}$$

Where $\alpha, \beta, \gamma, \delta, \mu > 0$ and $2\alpha + \beta + \gamma + \delta + \mu < 1$. If $f(X) \cup g(X) \subset h(X)$ is complete subspace of X. Then the maps f, g and h have a coincidence point z in X. Moreover if (f,h) and (g,h) are (IT)-Commutative at zthen f,g and h have unique common fixed point.

Proof. Let x_0 be an arbitrary point of X, and define the sequence $\{y_n\}$ in X such that

$$y_{2n} = f x_{2n} = h x_{2n+1}$$
 and

$$y_{2n+1} = gx_{2n+1} = hx_{2n+2},$$

for all $n = 0, 1, 2, \dots$ by equation (1), we have

$$d(y_{2n}, y_{2n+1}) = d(fx_{2n}, gx_{2n+1})$$

$$\leq \alpha d(hx_{2n}, gx_{2n+1}) + \beta d(fx_{2n}, fx_{2n+1})$$

$$+ \gamma d(fx_{2n}, gx_{2n+1}) + \delta d(fx_{2n}, hx_{2n})$$

$$+ \mu d(gx_{2n+1}, hx_{2n+1})$$

$$= \alpha d(y_{2n-1}, y_{2n+1}) + \beta d(y_{2n}, y_{2n+1}) + \gamma d(y_{2n}, y_{2n+1}) + \delta d(y_{2n}, y_{2n-1}) + \mu d(y_{2n+1}, y_{2n})$$

$$\leq \alpha \{d(y_{2n-1}, y_{2n}) + d(y_{2n}, y_{2n+1})\} + \beta d(y_{2n}, y_{2n+1}) + \gamma d(y_{2n}, y_{2n+1}) + \delta d(y_{2n}, y_{2n-1}) + \mu d(y_{2n+1}, y_{2n})$$

$$(1 - \alpha - \beta - \gamma - \mu)d(y_{2n}, y_{2n+1}) \le (\alpha + \delta)d(y_{2n}, y_{2n-1})$$

$$d(y_{2n}, y_{2n+1}) \le \frac{\alpha + \delta}{1 - \alpha - \beta - \gamma - \mu} d(y_{2n-1}, y_{2n})$$

$$d(y_{2n},y_{2n+1}) \leq kd(y_{2n-1},y_{2n})$$

Where
$$k = \frac{\alpha + \delta}{1 - \alpha - \beta - \gamma - \mu}$$
.

Similarly, it can be shown that

$$d(y_{2n+1}, y_{2n+2}) \le d(y_{2n}, y_{2n+1})$$

Therefore, for all n,

$$d(y_{n+1}, y_{n+2}) \le kd(y_n, y_{n+1}) \le \dots \le k^{n+1}d(y_0, y_1)$$

Now, for any m > n,

$$d(y_n, y_m) \le d(y_n, y_{n+1}) + d(y_{n+1}, y_{n+2}) + \cdots + d(y_{m-1}, y_m)$$

$$\le [k^n + k^{n+1} + \cdots + k^{m-1})d(y_1, y_0)$$

$$\le \frac{k^n}{1 - k}d(y_1, y_0)$$

From (1.3), we have

$$\| d(y_n, y_m) \| \le \frac{k^n}{1-k} L \| d(y_1, y_0) \|.$$

Which implies that $d(y_n, y_m) \to 0$ as

 $n, m \to \infty$, (since k < 1). Hence $\{y_n\}$ is a Cauchy sequence, where $y_n = \{hx_n\}$.

Therefore $\{hx_n\}$ is a Cauchy sequence. Since h(X) is complete, there exists z in h(X) such that $hx_n \to z$ as $n \to \infty$. Consequently, we can find z in X such that h(z) = s. We shall show that hz = fz = gz. Consider,

$$d(fz, gx_{2n+1}) \le \alpha d(hz, gx_{2n+1}) + \beta d(fz, fx_{2n+1}) + \gamma d(fz, gx_{2n+1}) + \delta d(fz, hz) + \mu d(gx_{2n+1}, hx_{2n+1})$$

Letting $n \to \infty$, we get

$$d(fz,s) \le \alpha d(s,s) + \beta d(fz,s) + \gamma d(fz,s) + \delta d(fz,s) + \mu d(s,s)$$

$$d(fz, s) \le (\beta + \gamma + \delta)d(fz, s)$$
, a contradiction

Therefore

$$fz = s = hz. (2.1.2)$$

similarly

$$d(gz, fx_{2n}) \le \alpha d(hz, fx_{2n}) + \beta d(gz, gx_{2n}) + \gamma d(gz, fx_{2n}) + \delta d(gz, hz) + \mu d(fx_{2n}, hx_{2n})$$

$$d(gz,s) \le \alpha d(s,s) + \beta d(gz,s) + \gamma d(gz,s) + \delta d(gz,s) + \mu d(s,s)$$

$$d(gz,s) \le (\beta + \gamma + \delta)d(gz,s)$$
, a contradiction.

Therefore.

$$gz = s = hz. (2.1.3)$$

From (2.1.2) and (2.1.3), it follows that

$$hz = fz = gz = s$$
, z is a coincidence point f, g, h.(2.1.4)

Since (f, h), (g, h) are (IT)-commuting at z.

$$d(ffz,fz) = d(ffz,gz)$$

$$\leq \alpha d(hfz,gz) + \beta d(ffz,fz)$$

$$+ \gamma d(ffz,gz) + \delta d(ffz,hfz)$$

$$+ \mu d(gz,hz)$$

$$\leq \alpha d(fhz, gz) + \beta d(ffz, fz) + \gamma d(ffz, gz) + \delta d(ffz, fhz) + \mu d(gz, hz)$$

$$\leq \alpha d(fz, gz) + \beta d(ffz, fz) + \gamma d(ffz, gz) + \delta d(ffz, fz) + \mu d(gz, hz)$$

$$<(\beta + \gamma + \delta)d(ffz,fz)$$

a contradiction, since k < 1 and fz = hz, which implies ffz = fz.

$$fz = ffz = fhz = hfz,$$

$$\Rightarrow ffz = hfz = fz = s.$$
(2.1.5)

Therefore

fz = sis a common fixed point of g and h.(2.1.6)

Similarly, we get,

$$gz = ggz = ghz = hgz,$$

$$\Rightarrow ggz = hgz = gz = s.$$
 (2.1.7)

Therefore

$$gz = fz = sis$$
 a common fixed point of g and h . (2.1.8)

In view of (2.1.6) and (2.1.8), it follows that f, g and h have a common fixed point namely s. The uniqueness of the common fixed point of s follows equation (2.1.1). Indeed, let s_1 is another common fixed point of f, g and h. Consider,

$$d(s, s_{1}) = d(fs, gs_{1})$$

$$\leq \alpha d(hs, gs_{1}) + \beta d(fs, fs_{1})$$

$$+ \gamma d(fs, gs_{1}) + \delta d(fs, hs) + \mu d(gs_{1}, hs_{1})$$

$$= \alpha d(s, s_{1}) + \beta d(s, s_{1}) + \gamma d(s, s_{1}) + \delta d(s, s) + \mu d(s_{1}, s_{1})$$

$$d(s, s_{1}) \leq (\alpha + \beta + \gamma) d(s, s_{1})$$

$$\Rightarrow d(s, s_{1}) \leq 0 \text{thus } s = s_{1}.$$

Therefore f, g and h have a unique common fixed point.

Theorem 2.2. Let (X, d) be a metric space, and P be a normal cone with normal constant L. Suppose mappings $f, g, h : X \to X$ satisfy the contractive condition :

$$d(fx, gy) \le \alpha d(hx, gy) + \beta [d(fx, fy) + d(fx, gy)] + \gamma [d(fx, hx) + d(gy, hy)]$$

$$(2.2.1)$$

Where $\alpha, \beta, \gamma > 0$ and $0 \le \alpha + \beta + \gamma < \frac{1}{2}$. If $f(X) \cup g(X) \subset h(X)$ is complete subspace of X. Then the maps f, g and h have a coincidence point z in X. Moreover if (f, h) and (g, h) are (IT)-Commutative at z, then f, g and h have unique common fixed point.

Proof. Let x_0 be an arbitrary point of X, and define the sequence $\{y_n\}$ in X such that

$$y_{2n} = f x_{2n} = h x_{2n+1}$$
 and

$$y_{2n+1} = gx_{2n+1} = hx_{2n+2},$$

for all $n = 0, 1, 2, \dots$ by equation (1), we have

$$\begin{split} d(y_{2n},y_{2n+1}) &= d(fx_{2n},gx_{2n+1}) \\ &\leq \alpha d(hx_{2n},gx_{2n+1}) + \beta[d(fx_{2n},fx_{2n+1}) \\ &+ d(fx_{2n},gx_{2n+1})] + \gamma[d(fx_{2n},hx_{2n}) \\ &+ d(gx_{2n+1},hx_{2n+1})] \\ &= \alpha d(y_{2n-1},y_{2n+1}) + \beta[d(y_{2n},y_{2n+1}) + d(y_{2n},y_{2n+1})] \\ &+ \gamma d(y_{2n},y_{2n-1}) + d(y_{2n+1},y_{2n})] \\ &\leq \alpha[d(y_{2n-1},y_{2n}) + d(y_{2n},y_{2n+1})] + \beta[d(y_{2n},y_{2n+1}) \\ &+ d(y_{2n},y_{2n+1})] + \gamma[d(y_{2n},y_{2n-1}) \\ &+ d(y_{2n+1},y_{2n})] \\ &(1 - \alpha - 2\beta - \gamma)d(y_{2n},y_{2n+1}) \leq (\alpha + \gamma)d(y_{2n},y_{2n-1}) \\ &\qquad \alpha + \gamma \end{split}$$

$$d(y_{2n}, y_{2n+1}) \le \frac{\alpha + \gamma}{1 - \alpha - 2\beta - \gamma} d(y_{2n-1}, y_{2n})$$

$$d(y_{2n}, y_{2n+1}) \le kd(y_{2n-1}, y_{2n})$$

Where $k = \frac{\alpha + \gamma}{1 - \alpha - 2\beta - \gamma}$

Similarly, it can be shown that

$$d(y_{2n+1}, y_{2n+2}) \le d(y_{2n}, y_{2n+1})$$

Therefore, for all n,

$$d(y_{n+1}, y_{n+2}) \le kd(y_n, y_{n+1}) \le \dots \le k^{n+1}d(y_0, y_1)$$

Now, for any m > n,

$$d(y_n, y_m) \le d(y_n, y_{n+1}) + d(y_{n+1}, y_{n+2}) + d(y_{m-1}, y_m)$$

$$\le [k^n + k^{n+1} + \dots + k^{m-1})d(y_1, y_0)$$

$$\le \frac{k^n}{1 - k}d(y_1, y_0)$$

From (1.3), we have

$$\| d(y_n, y_m) \| \le \frac{k^n}{1-k} L \| d(y_1, y_0) \|.$$

Which implies that $d(y_n, y_m) \to 0$ as

 $n, m \to \infty$, (since k < 1). Hence $\{y_n\}$ is a Cauchy sequence, where $y_n = \{hx_n\}$.

Therefore $\{hx_n\}$ is a Cauchy sequence. Since h(X) is complete, there exists z in h(X) such that $hx_n \to z$ as $n \to \infty$. Consequently, we can find z in X such that h(z) = s. We shall show that hz = fz = gz. Consider,

$$d(fz, gx_{2n+1}) \le \alpha d(hz, gx_{2n+1}) + \beta [d(fz, fx_{2n+1}) + d(fz, gx_{2n+1})] + \gamma [d(fz, hz) + d(gx_{2n+1}, hx_{2n+1})]$$

Letting $n \to \infty$, we get

$$d(fz,s) \le \alpha d(s,s) + \beta [d(fz,s) + d(fz,s)] + \gamma [d(fz,s) + d(s,s)]$$

 $d(fz, s) \le (2\beta + \gamma)d(fz, s)$, a contradiction Therefore

$$fz = s = hz. (2.2.2)$$

similarly

$$\begin{aligned} \dot{d}(gz, fx_{2n}) &\leq \alpha d(hz, fx_{2n}) + \beta [d(gz, gx_{2n}) \\ &+ d(gz, fx_{2n})] + \gamma [d(gz, hz) \\ &+ d(fx_{2n}, hx_{2n})] \end{aligned}$$

$$d(gz,s) \le \alpha d(s,s) + \beta [d(gz,s) + d(gz,s)] + \gamma [d(gz,s) + d(s,s)]$$

 $d(gz, s) \le (2\beta + \gamma)d(gz, s)$, a contradiction.

Therefore,

$$gz = s = hz. (2.2.3)$$

From (2.2.2) and (2.2.3), it follows that

$$hz = fz = gz = s$$
, z is a coincidence point f, g, h. (2.2.4)

Since (f, h), (g, h) are (IT)-commuting at z.

$$\begin{split} d(ffz,fz) &= d(ffz,gz) \\ &\leq \alpha d(hfz,gz) + \beta [d(ffz,fz) \\ &+ d(ffz,gz)] + \gamma [d(ffz,hfz) \\ &+ d(gz,hz)] \end{split}$$

$$\leq \alpha d(fhz, gz) + 2\beta d(ffz, fz) + \gamma [d(ffz, fhz) + d(gz, hz)]$$

$$\leq \alpha d(fz, gz) + 2\beta d(ffz, fz) + \gamma [d(ffz, fz) + d(gz, hz)]$$
$$< (2\beta + \gamma)d(ffz, fz)$$

a contradiction, since k < 1 and fz = hz, which implies ffz = fz.

$$fz = ffz = fhz = hfz,$$

$$\Rightarrow ffz = hfz = fz = s.$$
(2.2.5)

Therefore

fz = sis a common fixed point of g and h. (2.2.6)

Similarly, we get,

$$gz = ggz = ghz = hgz,$$

 $\Rightarrow ggz = hgz = gz = s.$ (2.2.7)

Therefore

$$gz = fz = \sin a$$
 common fixed point of g and h . (2.2.8)

In view of (2.2.6) and (2.2.8), it follows that f, g and h have a common fixed point namely s. The uniqueness of the common fixed point of s follows equation (2.2.1). Indeed, let s_1 is another common fixed point of f, g and h. Consider,

$$d(s, s_1) = d(fs, gs_1)$$

$$\leq \alpha d(hs, gs_1) + \beta [d(fs, fs_1) + d(fs, gs_1)] + \gamma [d(fs, hs) + d(gs_1, hs_1)]$$

$$= \alpha d(s, s_1) + \beta [d(s, s_1) + d(s, s_1)] + \gamma [d(s, s) + \mu d(s_1, s_1)]$$

$$d(s, s_1) \leq (\alpha + 2\beta) d(s, s_1)$$

 $\Rightarrow d(s, s_1) \leq 0$ thus $s = s_1$.

Therefore f, g and h have a unique common fixed point.

Theorem 2.3. Let (X, d) be a metric space, and P be a normal cone with normal constant L. Suppose mappings $f, g, h : X \to X$ satisfy the contractive condition :

$$d(fx,gy) \le \alpha [d(hx,gy) + d(fx,fy) + d(fy,gx)]$$
$$+\beta [d(fx,gy) + d(fx,hx)$$
$$+d(gy,hy)] \tag{2.3.1}$$

Where $\alpha, \beta > 0$ and $4\alpha + 3\beta < 1$. If $f(X) \cup g(X) \subset h(X)$ is complete subspace of X. Then the maps f, g and h have a coincidence point zin X. Moreover if (f,h) and (g,h) are (IT)-Commutative at z, then f,g and h have unique common fixed point.

Proof. Let x_0 be an arbitrary point of X, and define the sequence $\{y_n\}$ in X such that

$$y_{2n} = f x_{2n} = h x_{2n+1}$$
 and

$$y_{2n+1} = gx_{2n+1} = hx_{2n+2},$$

for all $n = 0, 1, 2, \dots$ by equation (1), we have

$$\begin{split} d(y_{2n},y_{2n+1}) &= d(fx_{2n},gx_{2n+1}) \\ &\leq \alpha[d(hx_{2n},gx_{2n+1}) + d(fx_{2n},fx_{2n+1}) \\ &+ d(fx_{2n+1},gx_{2n})] + \beta[d(fx_{2n},gx_{2n+1}) \\ &+ d(fx_{2n},hx_{2n}) + d(gx_{2n+1},hx_{2n+1})] \\ &= \alpha[d(y_{2n-1},y_{2n+1}) + d(y_{2n},y_{2n+1}) + d(y_{2n},y_{2n-1}) \\ &+ \beta[d(y_{2n},y_{2n+1}) + d(y_{2n},y_{2n-1}) \end{split}$$

 $+d(y_{2n+1},y_{2n})$

$$\leq \alpha[\{d(y_{2n-1}, y_{2n}) + d(y_{2n}, y_{2n+1})\} + 2d(y_{2n}, y_{2n+1})] + \beta[2d(y_{2n}, y_{2n+1}) + d(y_{2n}, y_{2n-1})]$$

$$(1-3\alpha-2\beta)d(y_{2n},y_{2n+1}) \leq (\alpha+\beta)d(y_{2n},y_{2n-1})$$

$$d(y_{2n}, y_{2n+1}) \le \frac{\alpha + \beta}{1 - 3\alpha - 2\beta} d(y_{2n-1}, y_{2n})$$

$$d(y_{2n},y_{2n+1}) \leq kd(y_{2n-1},y_{2n})$$

Where
$$k = \frac{\alpha + \beta}{1 - 3\alpha - 2\beta}$$

Similarly, it can be shown that

$$d(y_{2n+1},y_{2n+2}) \leq d(y_{2n},y_{2n+1})$$

Therefore, for all n,

$$d(y_{n+1}, y_{n+2}) \le kd(y_n, y_{n+1}) \le \dots \le k^{n+1}d(y_0, y_1)$$

Now, for any m > n,

$$\begin{aligned} d(y_n, y_m) &\leq d(y_n, y_{n+1}) + d(y_{n+1}, y_{n+2}) + \cdots \\ &\quad + d(y_{m-1}, y_m) \\ &\leq [k^n + k^{n+1} + \cdots + k^{m-1}) d(y_1, y_0) \\ &\leq \frac{k^n}{1 - k} d(y_1, y_0) \end{aligned}$$

From (1.3), we have

$$\| d(y_n, y_m) \| \le \frac{k^n}{1-k} L \| d(y_1, y_0) \|.$$

Which implies that $d(y_n, y_m) \to 0$ as

 $n, m \to \infty$, (since k < 1). Hence $\{y_n\}$ is a Cauchy sequence, where $y_n = \{hx_n\}$.

Therefore $\{hx_n\}$ is a Cauchy sequence. Since h(X) is complete, there exists z in h(X) such that $hx_n \to z$ as $n \to \infty$. Consequently, we can find z in X such that h(z) = s. We shall show that hz = fz = gz. Consider,

$$d(fz, gx_{2n+1}) \le \alpha[d(hz, gx_{2n+1}) + d(fz, fx_{2n+1}) + d(fx_{2n+1}, gz)] + \beta[d(fz, gx_{2n+1}) + d(fz, hz) + d(gx_{2n+1}, hx_{2n+1})]$$

Letting $n \to \infty$, we get

$$d(fz,s) \le \alpha[d(s,s) + d(fz,s) + d(s,s)] + \beta[d(fz,s) + d(fz,s) + d(s,s)]$$

 $d(fz, s) \le (\alpha + 2\beta)d(fz, s)$, a contradiction

Therefore

$$fz = s = hz. (2.3.2)$$

similarly

$$d(gz, fx_{2n}) \le \alpha[d(hz, fx_{2n}) + d(gz, gx_{2n}) + d(fx_{2n}, gz)] + \beta[d(gz, fx_{2n}) + d(gz, hz) + d(fx_{2n}, hx_{2n})]$$

$$d(gz,s) \le \alpha[d(s,s) + d(gz,s) + d(s,gz)] + \beta[d(gz,s) + d(gz,s) + d(s,s)]$$

 $d(gz,s) \leq (2\alpha + 2\beta)d(gz,s)$, a contradiction.

Therefore.

$$gz = s = hz. (2.3.3)$$

From (2.3.2) and (2.3.3), it follows that

hz = fz = gz = s, z is a coincidence point f, g, h.

(2.3.4)

Since (f, h), (g, h) are (IT)-commuting at z.

ince
$$(f,h)$$
, (g,h) are (IT)-commuting at z .
$$d(ffz,fz) = d(ffz,gz)$$

$$\leq \alpha[d(hfz,gz) + d(ffz,fz) + d(fgz,gfz)] + \beta[d(ffz,gz) + d(ffz,hfz) + d(gz,hz)]$$

$$\leq \alpha[d(fhz,gz) + d(ffz,fz) + d(fgz,fgz)] + \beta[d(ffz,gz) + d(ffz,fhz) + d(gz,hz)]$$

$$\leq \alpha[d(fz,gz) + d(ffz,fz) + d(fz,fz)] + \beta[d(ffz,gz) + d(ffz,fz)] + \beta[d(ffz,gz) + d(ffz,fz)]$$

 $<(\alpha+2\beta)d(ffz,fz)$ a contradiction, since k < 1 and fz = hz, which implies ffz = fz.

$$fz = ffz = fhz = hfz,$$

$$\Rightarrow ffz = hfz = fz = s.$$
(2.3.5)

Therefore

fz = sis a common fixed point of g and h. (2.3.6)

Similarly, we get,

$$gz = ggz = ghz = hgz,$$

$$\Rightarrow ggz = hgz = gz = s.$$
(2.3.7)

Therefore

 $gz = fz = \sin a$ common fixed point of g and h. (2.3.8)In view of (2.3.6) and (2.3.8), it follows that f, g and h have a common fixed point namely s. The uniqueness of the common

fixed point of s follows equation (2.3.1). Indeed, let s_1 is another common fixed point of f, g and h. Consider,

 $d(s, s_1) = d(fs, gs_1)$

$$\leq \alpha[d(hs, gs_1) + d(fs, fs_1) + d(fs_1, gs)] + \beta[d(fs, gs_1) + d(fs, hs) + d(gs_1, hs_1)]$$

$$= \alpha[d(s, s_1) + d(s, s_1) + d(s_1, s)] + \beta[d(s, s_1) + d(s, s) + d(s_1, s_1)]$$

$$d(s, s_1) \le (3\alpha + \beta)d(s, s_1)$$

$$\Rightarrow d(s, s_1) \le 0 \text{thus } s = s_1.$$

Therefore f, g and h have a unique common fixed point.

Theorem 2.4. Let (X, d) be a metric space, and P be a normal cone with normal constant L. Suppose mappings $f, g, h: X \rightarrow$ X satisfy the contractive condition:

$$d(fx, gy) \le \alpha [d(hx, gy) + d(fx, fy)]$$
$$+\beta [d(fy, gx) + d(fx, gy)]$$
$$+\gamma [d(fx, hx)]$$

+d(gy, hy)] (2.4.1)

Where $\alpha, \beta, \gamma > 0$ and $3\alpha + 2\beta + 2\gamma < 1$. If $f(X) \cup g(X) \subset$ h(X) is complete subspace of X. Then the maps f, g and h have a coincidence point zin X. Moreover if (f, h) and (g, h)are (IT)-Commutative at z, then f, g and h have unique common fixed point.

Proof. Let x_0 be an arbitrary point of X, and define the sequence $\{y_n\}$ in X such that

$$y_{2n} = f x_{2n} = h x_{2n+1}$$
 and

$$y_{2n+1} = gx_{2n+1} = hx_{2n+2},$$

for all $n = 0, 1, 2, \dots$ by equation (1), we have

$$d(y_{2n}, y_{2n+1}) = d(fx_{2n}, gx_{2n+1})$$

$$\leq \alpha[d(hx_{2n}, gx_{2n+1}) + d(fx_{2n}, fx_{2n+1})]$$

$$+ \beta[d(fx_{2n+1}, gx_{2n}) + d(fx_{2n}, gx_{2n+1})]$$

$$+ \gamma[d(fx_{2n}, hx_{2n}) + d(gx_{2n+1}, hx_{2n+1})]$$

$$= \alpha[d(y_{2n-1}, y_{2n+1}) + d(y_{2n}, y_{2n+1})] + \beta[d(y_{2n+1}, y_{2n}) + d(y_{2n}, y_{2n+1})] + \gamma[d(y_{2n}, y_{2n-1}) + d(y_{2n+1}, y_{2n})]$$

$$\leq \alpha[\{d(y_{2n-1}, y_{2n}) + d(y_{2n}, y_{2n+1})\} + d(y_{2n}, y_{2n+1})] + 2\beta d(y_{2n}, y_{2n+1}) + \gamma[d(y_{2n}, y_{2n-1}) + d(y_{2n}, y_{2n+1})]$$

$$(1 - 2\alpha - 2\beta - \gamma)d(y_{2n}, y_{2n+1}) \le (\alpha + \gamma)d(y_{2n}, y_{2n-1})$$

$$d(y_{2n}, y_{2n+1}) \le \frac{\alpha + \gamma}{1 - 2\alpha - 2\beta - \gamma} d(y_{2n-1}, y_{2n})$$

$$d(y_{2n},y_{2n+1}) \le kd(y_{2n-1},y_{2n})$$

Where
$$k = \frac{\alpha + \gamma}{1 - 2\alpha - 2\beta - \gamma}$$
.

Similarly, it can be shown that

$$d(y_{2n+1}, y_{2n+2}) \le d(y_{2n}, y_{2n+1})$$

Therefore, for all n,

$$d(y_{n+1}, y_{n+2}) \le kd(y_n, y_{n+1}) \le \dots \le k^{n+1}d(y_0, y_1)$$

Now, for any m > n,

$$\begin{aligned} d(y_n, y_m) &\leq d(y_n, y_{n+1}) + d(y_{n+1}, y_{n+2}) + \cdots \\ &\quad + d(y_{m-1}, y_m) \\ &\leq [k^n + k^{n+1} + \cdots + k^{m-1}) d(y_1, y_0) \\ &\leq \frac{k^n}{1 - k} d(y_1, y_0) \end{aligned}$$

From (1.3), we have

$$\| d(y_n, y_m) \| \le \frac{k^n}{1-k} L \| d(y_1, y_0) \|.$$

Which implies that $d(y_n, y_m) \to 0$ as

 $n, m \to \infty$, (since k < 1). Hence $\{y_n\}$ is a Cauchy sequence, where $y_n = \{hx_n\}.$

Therefore $\{hx_n\}$ is a Cauchy sequence. Since h(X) is complete, there exists z in h(X) such that $hx_n \to z$ as $n \to \infty$.

Consequently, we can find z in X such that h(z) = s. We shall show that hz = fz = gz. Consider,

$$d(fz, gx_{2n+1}) \le \alpha[d(hz, gx_{2n+1}) + d(fz, fx_{2n+1})] + \beta[d(fx_{2n+1}, gz) + d(fz, gx_{2n+1})] + \gamma[d(fz, hz) + d(gx_{2n+1}, hx_{2n+1})]$$

Letting $n \to \infty$, we get

$$d(fz,s) \le \alpha[d(s,s) + d(fz,s)] + \beta[d(s,s) + d(fz,s)]$$

+ $\gamma[d(fz,s) + d(s,s)]$

 $d(fz, s) \le (\alpha + \beta + \gamma)d(fz, s)$, a contradiction

Therefore

$$\begin{aligned} fz &= s = hz. \\ \text{similarly} \\ d(gz, fx_{2n}) &\leq \alpha [d(hz, fx_{2n}) + d(gz, gx_{2n})] \\ &+ \beta [d(fx_{2n}, gz) + d(gz, fx_{2n})] \end{aligned}$$

$$d(gz,s) \le \alpha[d(s,s) + d(gz,s)] + \beta[d(s,gz) + d(gz,s)]$$
$$+ \gamma[d(gz,s) + d(s,s)]$$

 $+ \gamma [d(gz, hz) + d(fx_{2n}, hx_{2n})]$

 $d(gz, s) \le (\alpha + 2\beta + \gamma)d(gz, s)$, a contradiction.

Therefore.

$$gz = s = hz. (2.4.3)$$

From (2.4.2) and (2.4.3), it follows that

hz = fz = gz = s, z is a coincidence point f, g, h. (2.4.4)

Since (f, h), (g, h) are (IT)-commuting at z.

$$\begin{split} d(ffz,fz) &= d(ffz,gz) \\ &\leq \alpha[d(hfz,gz) + d(ffz,fz)] \\ &+ \beta[d(fgz,gfz) + d(ffz,gz)] \\ &+ \gamma[d(ffz,hfz) + d(gz,hz)] \\ &\leq \alpha[d(fhz,gz) + d(ffz,fz)] + \beta[d(fgz,fgz) \\ &+ d(ffz,gz)] + \gamma[d(ffz,fhz) \\ &+ d(gz,hz)] \end{split}$$

$$\leq \alpha[d(fz,gz) + d(ffz,fz)] + \beta[d(fz,fz) + d(ffz,gz)] \\ + \gamma[d(ffz,fz) + d(gz,hz)] \\ < (\alpha + \beta + \gamma)d(ffz,fz)$$

a contradiction, since k < 1 and fz = hz, which implies ffz = fz.

$$fz = ffz = fhz = hfz,$$

$$\Rightarrow ffz = hfz = fz = s.$$
(2.4.5)

Therefore

$$fz = sis a common fixed point of g and h.$$
 (2.4.6)

Similarly, we get,

$$gz = ggz = ghz = hgz,$$

 $\Rightarrow ggz = hgz = gz = s.$ (2.4.7)

Therefore

$$gz = fz = \sin a$$
 common fixed point of g and h . (2.4.8)

In view of (2.4.6) and (2.4.8), it follows that f, g and h have a common fixed point namely s. The uniqueness of the common fixed point of s follows equation (2.4.1). Indeed, let s_1 is another common fixed point of f, g and h. Consider,

$$d(s, s_1) = d(fs, gs_1)$$

$$\leq \alpha[d(hs, gs_1) + d(fs, fs_1)]$$

$$+ \beta[d(fs_1, gs) + d(fs, gs_1)]$$

$$+ \gamma[d(fs, hs) + d(gs_1, hs_1)]$$

$$= \alpha[d(s, s_1) + d(s, s_1)] + \beta[d(s_1, s) + d(s, s_1)]$$

$$+ \gamma[d(s, s) + d(s_1, s_1)]$$

$$d(s, s_1) \leq (2\alpha + 2\beta)d(s, s_1)$$

 $\Rightarrow d(s, s_1) \le 0$ thus $s = s_1$.

Therefore f, g and h have a unique common fixed point.

REFERENCES

- [1] Huang, L. G. and Zhang, X., "Cone metric spaces and fixed point theorems of contractive mappings", *J. Math. Anal. Appl.* 332, No. 2 (2007), pp. 1468-1476.
- [2] Abbas, M. andJungck, G., "Common fixed point results for non commuting mappings without continuity in cone metric spaces", *J. Math. Anal. Appl.* 341, No. 1 (2008), pp. 416-420.
- [3] Abbas, M. and Rhoades, B.E., "Fixed and periodic point results in cone metric spaces", *Appl. Math. Lett.*, 22, No. 4 (2009), pp. 511-515.
- [4] Berinde, V., "A common fixed point theorem for compatible quasi contractive self mappings in metric spaces", *Appl. Math. Comput.*, 213, (2009), 348-354.
- [5] Fisher, B., "Four mappings with common fixed point", *J. Univ. Kuwait*, *Sci.*,(1981), pp. 131-141.
- [6] Ilic, D. andRakocevic, V., "Common fixed points for mapps on cone metric space", J. Math. Anal. Appl. 341, No. 2 (2008), pp. 876-882.
- [7] Redenovic, S. and Rhoades, B.E., "The fixed point theorem for two non self mappings in cone metric spaces", *Comp. Math. Appl.* 57, No. 10 (2009), pp. 1701-1707.
- [8] Rezapour, Sh. and Hamlbarani, R., "Some notes on the paper: "Cone metric spaces and fixed point theorems of contractive mappings"," *J. Math. Anal. Appl.* 345, No. 2 (2008), pp. 719-724.